Kacuerrepi: //Cabak

1. TenciznmikTi gonenaeHiz, erep 0 <a < b < 1.
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2. Tencizmikti nonennaeni3, erep 0 <a < b < 1.
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3.Erepa = b,x = y 6oica, onna ax + by = ay + bx nonennieHis.
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4.Erepa; <a, <az < ..<ag < aqq boica, OHI[ag(al-I- ctag) < E(al + ...+ aqp)
TIAJIENIACHI3.

5.a,b,c = 1xone a? + b? + ¢ = 2022, onga (a + b + ¢ — 2)? = 2020 ponengexis.

O3iHaik KyMbIC (Yil JKYMBICHI)
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l.Erepa+b+c+d>0,a>cb>do6onca, ouna |a+ b| > |c + d| nonennenis.
2.Erepa = 1,b = 2 Goiica, onna ab + 2 = 2a + b nonenaeHis.

3.Erepa = b,x = y Goinca, onna ax — bx = ay — by nonenacHis.

4. Erep a > b > 1 6onca, oama ab + 1 = a + b nonenyeHis.

5.Erepa = x,y > a 6onca, ouna a(x + y — a) = xy AoNeneHis.
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6. a, b, c — GyTiH Tepic emec caH 00JchIH koHe 28a + 30b + 31c =365.a+b+c =12
0O0JIaTBIHBIH JIQJIEIICHI3.
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8. Erep x > 1 6oica, onga —— + —— > — JoJNeNJeHI3.
x—1 x+1 x

C TOOBL.

9. Erep ¢ > b > a — HaKTHI caHaaphl 6onca, ouaa c2 — b% + a? > (¢ — b + a)? nonenyeHis.
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10. Erep k € N 6ozca, onga s T Yo~ oo T S OVIeIIeHs.




